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General Instructions :

(i)

(ii)

(iii)

(iv)

()

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1 - 5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
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should be adhered to as far as possible.
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SECTION A

1. 37U JTCHIhR | 1 AN & ? 1

What is imperfect oligopoly ?

2. e 3CUIG i STHR g | 1 NI g ? 1

What is market supply of a product ?

3. ‘SR AT % 31 ¥4 | i

Give the meaning of ‘inelastic demand’.

¥4,  WHR A faesht 45t 1 Weafea e IE W e 7 | Icured e i %
Te | 3T i Hod I 7 ? 1

The government has started promoting foreign capital. What is its

economic value in the context of Production Possibilities Frontier ?

5.  ©md gEnty (3mm) i gt S | 1

Define marginal revenue.

6.  THEST qeh-reh! Ifd form T Ush w1 g fopeft g Y gfid =t ferfeas 2 | 3

AT

FHETEY, AN <hl hiFd Thd TR Teh ®H g1 fohelt awg sl qfd 1 faies
2 |

Explain how technological progress is a determinant of supply of a good
by a firm.

OR

Explain how input prices are a determinant of supply of a good by a
firm.
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10.

11.

12.
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3cUTe GHTeHT Ish Addd o1 8idl & ? THHSET |

Why is Production Possibilities Curve concave ? Explain.

Sd Teh g%q oh! hAd T 10 ¥ §¢ L T 12 Ul IS &1 ST &, I SFh! HIT
25 TS W I L 20 IHIS @l Il & | 9 I hl I hl A G o IR |
‘= fafe’ g 319 91 e Fohd & ?

When the price of a good rises from ¥ 10 to ¥ 12 per unit, its demand

falls from 25 units to 20 units. What can you say about price elasticity of

demand of the good through the ‘expenditure approach’ ?

AR | HHT hl G&AT H F1 gidl 3 ? GHATST |

Why is the number of firms small in oligopoly ? Explain.

T FEITTH (SATTH) Ted hiad o SeR F1 gt | ?

Why is Average Revenue always equal to price ?

I ¢d gY UiEd STl i o THemsy |

Giving reasons, explain the ‘Law of Variable Proportions’.

T IUNIHN had & IEG3T X TR Y T U Hial & R dge § 7 |
foeme fh 9@ a&g X 61 g gl 7, a1 TR 9% X sl 0 JE @l
2 | Iwnfar fogeiwor =51 3w HifS |

HAAAT

forelt avq 1 < TS HITd S MR W IUYRRT hdl 0 ST fob I8 39 a%g H
ferat T @iie 2 ST fageryor 61 3w i |

A consumer consumes only two goods X and Y and is in equilibrium.

Show that when the price of good X rises, the consumer buys less of
good X. Use utility analysis.

OR

Given the price of a good, how will a consumer decide as to how much
quantity of that good to buy ? Use utility analysis.



13. & g &g I UfqEATTH a%q hl hma H giEdd T G < TS awg hl 7T W
T 9T ST § ? Ueh ISR ol WEEAl § HHEATSY | 4

How does change in price of a substitute good affect the demand of the
given good ? Explain with the help of an example.

14. T %] 1 99N 99 H 8 | 9%g I 71 § g 0l 8 | 99K & &N
FgaH H 3TH % 39 INEdd o RO B d YWTEl i @A FHIART |
@ 1 YA HINY | 6

Market of a commodity is in equilibrium. Demand for the commodity

‘increases’. Explain the chain of effects of this change till the market

again reaches equilibrium. Use diagram.

e ETfeTiad 97 Fac giggia ahemiaal & forg Jo7 G&37 14 & T W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 14.

T 9] 1 IWR HqeH H 7 | 9%q I A H g A 7 | IWR % e
e B T I 38 INTd o RV W Tl IWTEl shi @ THIATET | gEd
3R 91 o Tl W hmdi shi o ot i | 6
Market for a commodity is in equilibrium. Demand for the commodity
‘increases’. Explain the chain of effects of this change till the market

again reaches equilibrium. Also compare prices at old and new
equilibriums.

15. @HIEY I b ERMH a5 (31) = i AR gotat 3 () 39 B 2 | 6
Jrera

T 328N <hl! HERIAT 9 “Ufaeemyg <h! @qrd e <hl STaURun 9Hesy |
FARMAM 56 W 36ehT I8N Wi HHEATSY |

Explain why is an indifference curve (a) downward sloping and
(b) convex.

OR

Explain the concept of ‘Marginal Rate of Substitution’ with the help of a
numerical example. Also explain its behaviour along an indifference
curve.

58/2 5 P.T.O.



16.

17.

18.

19.

20.
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T BH o aR § Fefeifad e |, Hura ana iR Hiurg genta () %
MR T HH T e ICUTET [T hITT | RO FAEY | 38 IcdTe T ATH

ft Fa HIST |
3IcqTed P TEITH (A7) A AN
(3hTS) ) )
1 6 7
2 12 13
3 18 17
4 24 23
5 30 31

From the following information about a firm, find the firm’s equilibrium
output in terms of marginal cost and marginal revenue. Give reasons.

Also find profit at this output.

Output Total Revenue Total Cost
(units) (%) (%)
1 6 7
2 12 13
3 18 17
4 24 23
5 30 31
Qus o
SECTION B
ol TUSHTR & T AT B 2

What is full employment ?

el (erehieft) fafimar o & @ sl 8 2

What is floating exchange rate ?

qrafey SHreT @ = I 3 2

What are time deposits ?

TaEhIf TS hi gyt €T |
Define deflationary gap.




21.

22,

23.

24.

25.

26.
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TSRS =TT <hl qitymsT ST |
Define fiscal deficit.

g1 1 TG hl Sh1g D1 T g TUEY |
T

HET 1 ‘AN I 1 A ¥ 1 Hewd TR |
Explain the significance of the ‘Unit of Account’ function of money.
OR

Explain the significance of the ‘Standard of Deferred Payment’ function
of money.

YaH  Hgad oHedl § @R (Wad) AR GHRSE gq oFedl § STl
AT |

Distinguish between ‘autonomous’ and ‘accommodating’ Balance of

Payments transactions.

5o foreft o3 it foesht fafime <@ o @ 8, a1 STl W avE gsd A
FHTEAT Tl & 3R i 2

When foreign exchange rate in a country is on the rise, what impact is it
likely to have on imports and how ?

STE IO (S0 g9El) ¥ AN B 2 TR gAteHe Wedt yae &t
TR EITSTT 3T SHehT AN o heAT0 T IS AT IHTS qHSTST |

What are externalities ? Give an example of a positive externality and
its impact on welfare of the people.

TN T9Ie o deH H MHfaRad T9ed Wt g A1 ISiTd ST SfR &/ 2
G) R ITEar
Giy fafrew

Is the following a revenue receipt or a capital receipt in the context of

government budget and why ?
) Tax receipts

(i1) Disinvestment
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28.

29.
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I ST a1 W R hl Gl 4 M3 B | ¥8 fohw Snifden qed i guiian @ 2
BEEIE

Tax rates on higher income group have been increased. Which economic

value does it reflect ? Explain.

SHedld ek T FLHR HT ShT 1A GHIATSU |
HAYAT
HedId Sk ST ‘Sehl 1 Sk HTH GHSTIT |
Explain ‘Banker to the Government’ function of the central bank.
OR

Explain ‘Bankers’ Bank’ function of the central bank.

T AdEEAT, S o dqeH 4 7, o an # f=fafaa est & faw =3 =
gfehe IS

g A = 1000
T =Yg = 020
WA (W) UM =™ = 100

Calculate investment expenditure from the following data about an
economy which is in equilibrium :

National income = 1000
Marginal propensity to save = 0-20
Autonomous consumption expenditure = 100



30.

Note :

58/2

F9d IR a9 Be sl TEmIar ¥ auEsT foh AdeTewd ®e dqed | gl § |
g oft auest fob S@ rderaren ageH | 9 &1, a1 rderaren § w1 ufEadd
A 3 | [T =1 Y= il | 6

HAAAT

TG gk H 39N g%k UTH hid o <A T IH 91l =01 S84 | 3@ i

T <hifTT |

When is an economy in equilibrium ? Explain with the help of Saving
and Investment functions. Also explain the changes that take place in

an economy when the economy is not in equilibrium. Use diagram.

OR

Outline the steps required to be taken in deriving the Consumption

Curve from the given Saving Curve. Use diagram.

HETCTRGT 597 FacT gIBEIT Tiermferan & 1o7q o7 §&1 30 & ¥ W& |

The following question is for the Blind Candidates only in lieu of
Q. No. 30.

o & ofw @fe | w=a ot e wer g Tl S W dded
sy | I8 ot Tussy foh Sfa srefeyaTen Aged H A g1, a1 ALeTawt §
IR 3Td & | 6

AT

I99TT BT H T ITHI @ 2 S9d Bold 9 39 hd UTH foRIm S Hehal @ 2
HHATRT |
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31.

58/2

Define Investment. Explain national income equilibrium through Saving
and Investment function. Also explain the changes that take place in an

economy when the economy is not in equilibrium.

What is Consumption Function ? How can it be derived from the Saving

OR

Function ? Explain.

Frafafaa o i omd’ R Tae TF TS 3T 1 Uiehard shifg

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

wis § fiad qfgda
LT 3faH U =

fargett =t fa@ Iiat (1)) Fearaio
Thd ¢t T=e goit fwtor

fst a1t Suvi ==

IRESRIRIG]

Acdetd

fagstt =l FHa@ Heh 3™

e sTueae

foget =1 faet ISiiTa gedraRon

10

(& 3Ra 7)

50
100
30
200
500
40

70

(-) 10
120

25

4,2



Calculate ‘National Income’ and ‘Net National Disposable Income’ from

the following :
(Tin Arab)

) Net change in stocks 50
(i1)  Government final consumption expenditure 100
(iii)  Net current transfers to abroad 30
(iv)  Gross domestic fixed capital formation 200
(v)  Private final consumption expenditure 500
(vi)  Net imports 40
(vii) Depreciation 70
(viii) Net factor income to abroad (=) 10
(ix) Net indirect tax 120
(x)  Net capital transfers to abroad 25

32. U ¢ I UL 3™ 1 FAAH T g0 FAfaifaa & @ner = syagr foman
ST AMET 2 3794 I hT HIT 39T Fd1 |

(i)  gg Aral-fuar i @A ST
(i) T X T PAH
(iii) TR g Jferd Ha ¢ W =

How should the following be treated in estimating national income of a

country ? You must give reason for your answer.
(1) Taking care of aged parents
(ii))  Payment of corporate tax

(iii) Expenditure on providing police services by the government

58/2 11
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Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3.  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

4.  For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5.  Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7. Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

8. {;} indicates value based questions.

General Note : In_case of numerical question no mark is to be given if only
the final answer is given.
. Distribution
B2
Expected Answer / Value Points of Marks

1 |If in an oligopoly market the firms produce differentiated products, it is called 1

imperfect oligopoly.
2 Market supply of good is the sum total of quantities that all the producers of that

good are willing to supply at a price during a period of time. 1
3 | When percentage change in demand is less than the percentage change in price, it 1

is inelastic demand.
a It will increase inflow of foreign capital. Its economic value is the rise in production 1

potential due to increase in resources.

Pg. 1



Addition to total revenue on selling or producing one more unit of output is
marginal revenue.

Technological progress leads to reduction in cost of producing output. Price
remaining unchanged, less cost means more profit. This increases supply of the
good.

OR
Suppose input prices rise. This raises cost. Price of the good remaining unchanged,
profits fall. This discourages the producer so supply will decrease. Opposite happens
if the input prices fall.

A typical PP curve is downward sloping and concave, i.e. its slope is increasing,
because marginal Rate of Transformation (MRT) increases as we move downwards
along the curve. MRT increases because no resource is equally efficient in
production of all goods. As the resources are transferred from one good to another
MRT increases because less and less efficient resources are to be transferred each
time.

P Q Total Exp.
10 25 250
12 20 240
Since with rise in price total expenditure on the good falls, the demand for the good
is ‘elastic’. (or e > 1).
(No marks if the percentage method is adopted)

The main reason why the number of firms is small is that there are barriers which
prevent entry of firms into industry. Patents, large capital requirement control over
the crucial raw materials, etc. prevent new firms from entering the industry. Only
those who are able to cross these barriers enter.

10

Gi AR R
iven =—
Q

SinceTR =P X (Q
_PxQ

AR
Q

P

11

The Law of Variable Proportions states that as only one input is increased, others
remaining unchanged, Total Product (TP) changes in three phases.
Phase : | TP rises at an increasing rate.
Phase : Il TP rises at decreasing rate
Phase : lll TP falls
Reason :
Phase : 1 TP rises at an increasing rate because in the beginning as the quantity of
the variable input is increased efficient utilization of fixed input takes places due to
specialization. This raises efficiency of the variable input.
Phase : Il TP now rises at a decreasing rate because as the variable input is
increased, there is pressure on fixed inputs leading to decline in efficiency.
Phase : lll TP starts falling because the quantity of the variable input becomes too
much in relation to the fixed input.

(Diagram not required. To be marked as a whole. )

Pg. 2



12

According to the utility analysis, the consumer is in equilibrium when
MUy _ MU,y

Py Py
Now, given that Px rises, then

MU MU
—X 2
Py Py

Since per rupee MU, is lower than per rupee MU,, the consumer will buy less of X
and more of Y.

It shows that when P, rises, demand for X falls.
OR

While buying a unit of a good the consumer compares price with marginal utility
(MU). So long as the price the consumer is willing to pay (i.e. MU) is higher than the
market price, the consumer will go on buying. As the consumer buys more, MU falls
due to the law of Diminishing Marginal Utility. The consumer stops buying when
MU or Price he is willing to pay is equal to market price i.e. MU = P.

If the consumer still buys more, MU will become lower than price; a position a
rational consumer will not accept.

13

Change in price of a substitute good affects the demand for given good. For
example, let the two goods be X and Y are substitutes of each other. Suppose the
given good is X and Price of its substitutes good Y falls. This raises the relative price
of X because X now becomes less price attractive. This decreases demand for X. This
establishes direct relation between price of the substitute good and demand of the
given good.

14

OP, is the equilibrium price and 0Q; is equilibrium quantity. When demand
increases, the demand curve shifts to the right. D2 is new demand curve.

This creates an excess demand E;A; at the existing price OP;.
The excess demand causes competition among buyers resulting in rise in price .

Rise in price leads to fall in demand and rise in supply as indicated by the arrows.

- These changes continue till the market reaches new equilibrium at E, with a higher
price OP, and higher quantity 0Qs,.

Pg. 3



For the Blind Candidate

Increase in demand results in excess demand.

It causes competition among buyers resulting in rise in price

Price rise reduces demand and increases supply.

Excess demand is reduce

These changes continue till demand and supply are equal at new price.
New price is higher than old price.

15

(i) Indifference Curve Slopes Downwards: because in order to consume More units
of X good the consumer must give up some quantity of Y good, so that consumer
remains on the same level of satisfaction at each point of Indifference Curve.

(ii) Indifference Curve is convex to the origin : Because it is assumed that Marginal
Rate of Substitution falls continuously as the consumer moves downwards along
the curve. It is due to the Law of Diminishing Marginal Utility.

OR

Marginal Rate of Substitution (MRS) means the rate at which a consumer is willing
to sacrifice quantity of one good to obtain one more unit of the other good.

Let the two goods consumed be A and B. Suppose the following combinations of
these two goods have the same utility level for him :

Good A GoodB MRS
1 8 -
2 4 4B : 1A
3 1 3B: 1A

The consumer is willing to sacrifice 4B to obtain second unit of A. For the third unit
of A. he is willing to sacrifice less because marginal utility of A decreases as he
consumes more of A.

16

Output TR TC MR MC
1 6 7
2 12 13
3 18 17
4 24 23
5 30 31 6 8

()N Ne) o) )]

‘ Equilibrium

The producer is in equilibrium at 4 units of output

Reason : At this level of output the conditions of producers equilibrium
given below are satisfied :
(1) MC=MR
(2) MC > MR after equilibrium
Profit=TR-TC=24-23=1

[y

SECTION -B

17

Full employment is a situation in which all those who are able and willing to work at
given wage rate find work.

18

Floating exchange rate is the exchange rate determined by the market forces of
supply and demand of foreign exchange.

Pg. 4



19 | Time deposits are deposits which have fixed period of maturity Or which can be 1
withdrawn only after a specified period of time.

20 | Deflationary gap refers to a situation when AD falls short of AS at full employment.

1

21 | When total government expenditure exceeds total government receipts excluding 1
borrowing, the difference is called fiscal deficit.

22 The unit of account function means that monetary unit is treated as the standard 3

unit for quoting prices or borrowing & lending activities etc. This function has
made possible keeping of accounts and the emergence of the banking system.
OR
Deferred payments mean payment contracted to be made at some future date.
Money serves as a standard of such deferred payments, like in borrowing and 3
lending activities. It has made possible the creation of banking system.

23 | Autonomous transactions are those which are not influenced by other transactions
in Balance of Payment Account. Accommodating transactions are those which are 3
undertaken to cover deficit / Surplus in BOP.

24 When foreign exchange rate rises, it makes the country’s imports costly .The
importers have to pay a higher price in terms of domestic currency for the goods 3
and services imported. This may reduce demand for imports.

25 | Externalities refer to the benefits (or harms) a firm or an individual causes to
another for which it is not paid (or penalised) 1
Example : Use of public parks by the people for pleasure for which no payments are
made by the public (or any other example). It increases welfare through positive
effect on health. 2

26 | (i) Tax Receipts are revenue receipts because these neither create any liability nor 1%
reduce asset.

(ii) Disinvestments are capital receipts because it reduces assets.

27 | This will reduce the inequalities of income as the difference between disposable
incomes of higher income and lower income groups will fall. This will also provide 4
more resource to the government for spending on welfare of the poor-

28 | Central bank is banker to the government like commercial banks are to the public. It
accepts deposits from government and gives loans to the government in times of 4
need.

OR
Commercial banks are required to keep a certain minimum percentage of deposits
as cash reserve with the central bank. Central bank user these reserves to meet
q

emergency requirements of the commercial banks. It is called bankers’ bank
functions of the central bank.

Pg.5



29

Y=C+MPC(Y)+I
1000 = 100 + (1 — 0.2)1000 + I
[ =1000— 100 —800 =100
(No marks if only the final answer is given)

30

st

The economy is in equilibrium at that income level at which saving = investment.
The equilibrium level of income is OM as at this level S=I

When the economy is not in equilibrium saving is not equal to investment : Suppose
S > I. It means AD < AS. This leads to piling up of inventories with the producers. In
order to bring down inventories to the desired level , producers cut down
production which brings down AS. The trend continues till AD = AS again and S = |
where the economy is in equilibrium. Similarly if S < I, then AD > AS. There is
decrease in inventories. Producers increase production, AS rises. This continues till

AD =AS.
OR

0l
\
\
e __ N

|

L O

\P
=
3
o
9
3
LY

Steps :
(i) SS’ is the given S- Curve. Draw a 45° line from origin

(i)  Take OC equal to OS on the Y-axis.
(iii) Draw a perpendicular (or line parallel to the y-axis) from Btill if

intersects the 45° line at B.

(iv)  Join C and B and extend the same to get C-curve

Pg. 6



For the Blind Candidates :

e Definition of Investment. 1
e Equilibrium on the same lines as above without diagram ;
e When not in equilibrium on the same line as above
OR
e Definition of consumption function. 1
e Derivation with explanation. 5
31
N.L=v+ii+ (iv+i)— vi— vii — ix — viii 2
= 500 + 100 + 200 4+ 50 — 40 — 70 — 120 — (—10) 1%
= Rs.630 Arab. %
NNDI = NI + ix — iii 1
=630 + 120 — 30 %
= Rs.720 Arab Y
(No Marks if only the final answer is given)
32 | . . . I .
(i) Taking care of aged parents Should be included because it is a productive 2
service rendered to the parents.
(ii) Payments of corporation tax should not be included because any tax payment is
a transfer payment as no good or service is provided in return 2
(iii) Expenditure on providing police services by government should be included
because expenditure on any free service provided by government is government’s 2

final consumption expenditure.

(No marks if the reason is not given)

Pg.7
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